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Given that pentagon AGMWB is equilateral and equiangular, prove or disprove that J and K are midpoints of 
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Prove that the ray bisecting the exterior angle at the vertex of an isosceles triangle is parallel to the base of the triangle.
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Prove (if you can):
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If two of the six lines pictured are randomly selected, what is the probability they will be parallel?
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In parallelogram PSTM




Find x,y,m(P, m(S


FRAM is a rectangle







Find x and y




MAST  is a rhombus




Find m(MAS







PSQF is a trapezoid
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ABCD is a 
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Given: Trapezoid AKMS with legs 
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Prove: AKMS is and isosceles trapezoid
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Prove: 

ADEC is a 
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Prove: PMWO is a rhombus
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The angles of a rhombus are 60( and 120(. The short diagonal is 8cm. Find the perimeter of the rhombus.
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(1 & (2 are right angles
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Prove: DAMB is a rhombus
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Prove: ABCD is a trapezoid

A





D





C





B





P





K





A





S





M





E





D





C





A





2





1





P





W





M





O





R





P





T





F





T





P





S





R





Q





P





Y





R





T





A





C





P





A





R





T





W





1





2





2





1





P





F





H





E





D





C





B





A





� EMBED MSDraw.Drawing.8.2  ���





� EMBED Word.Picture.8  ���





S





P





Q





R





M





T





A





R





P





12x





� EMBED Equation.DSMT4  ���





� EMBED Equation.DSMT4  ���





A





D





C





B





� EMBED Equation.DSMT4 ���





� EMBED Equation.DSMT4 ���





� EMBED Equation.DSMT4 ���





� EMBED Equation.DSMT4 ���





� EMBED Equation.DSMT4 ���








_971816265

_1127563976

_1127564130

_1224279398

_1288845359.unknown

_1288845361.unknown

_1288845363.unknown

_1288845364.unknown

_1288845362.unknown

_1288845360.unknown

_1224279507.doc


58(







117(







63(







77(







58(







G







E







D







F







C







B







A












_1225142319.doc


A







S







U







M












_1224279409

_1130530747.unknown

_1130530843.unknown

_1130786258.unknown

_1130786444.unknown

_1130530842.unknown

_1127564257.unknown

_1130530600.unknown

_1130530649.unknown

_1127564258

_1127564256.unknown

_1127564071

_1127564103

_1127564120.unknown

_1127564094

_1127564035.unknown

_1127564061

_1127563999.unknown

_1060262135.unknown

_1067794278

_1127563909

_1127563947

_1068409737

_1068409778.unknown

_1067794681.doc


D







C







B







A












_1068059359

_1067794345.unknown

_1060264040.unknown

_1060265037.unknown

_1060265423.unknown

_1060266338.unknown

_1060266365.unknown

_1060265144.unknown

_1060264128.unknown

_1060264522.unknown

_1060264090.unknown

_1060263367.unknown

_1060263664.unknown

_1060263196.unknown

_1060260061.unknown

_1060260766.unknown

_1060262059.unknown

_1060260730.unknown

_1004302723.unknown

_1060259981.unknown

_1060260019.unknown

_1060259953.unknown

_1004302776.unknown

_1004302571.unknown

_1004302629.unknown

_1004302252.unknown

_940627394.doc
���������



S







R







Q







P
















_941315724

_941315812

_941315817.doc
�����



M







A







R







F
















_941315917

_941315814.doc
���������



T







S







A







M
















_941315804.doc
��������



T







P







W







S
















_941315811.doc
��������



Q







S







P







F
















_941315725.doc
��������



P







M







T







S
















_941315803

_940627795.doc
�������������



N







H







P







I







L







Q







J







K







M
















_940628091

_941313007.doc
������������������������������



35(







50(







E







H







D







G







A







L







M







B







T







Q







I







J







K







F







R







S







P







C







O







N
















_940627587.doc
���������



b







a







1







3x+30(







9x+6(







7y(
















_940285223

_940627014.doc
���������



D







C







B







A
















_940627255

_940627374

_940626402.doc
���������



n







m







x(







150(
















_940283332

_940285000

_940283220

